4MO023 Pupil Tasks

Fluency 1

Circle the numbers that complete each stem sentence.

0.37
|
|
0 1

0.37 is further from 0 /1than 0 /1

5 6

5.26 / 5.41/5.72 is nearest to 6

Fluency 3

Circle the numbers that complete each stem sentence.

0.54

0.5 0.6

0.54 is further from 0.5 / 0.6 than 0.5 / 0.6
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Fluency 2

Complete the stem sentences.

08 0.9

0.88is away from 0.8. 0.88 is away from 0.9

0.88 is further from 0.8 / 0.9 than 0.8 / 0.9

7.163
T
7.6 7.7
7.63is away from 7.6. 7.63 is away from 7.7

7.63is nearerto 7.6 / 7.7than 7.6 / 7.7

8.9 9

8.99 is nearerto 8.9 /9than8.9/9
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Fluency 4

Circle the numbers that complete each stem sentence.

o

O

B

0.15 0.16 0.18 3.01 3.03 3.09 =

| | | | =
S
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0.15 / 0.16 / 0.18 is furthest from 0.2 3.09 /3.01/3.03is nearestto 3 g ‘é
(7]
> o
5 £
Fluency 5 g’;
Complete the stem sentences. g %
0.17 0.25 0.17is away from 0.2 € 3

1 1 0.25is away from 0.2

I | | | | | | | | | | 0.17 / 0.25 is nearest to 0.2

2.32 2.56 232 s away from 2.4
1 1 256 is away from 2.4

2.32 / 2.56 is furthest from 2.4
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Fluency 6

Circle the numbers that complete each stem sentence.

(0]
0.68 0.81 S
1 1 0.68 / 0.81is nearest to 0.7 §
il i i s i o
£
0 1 <
§5
6.43 6.94 T2
| | o 4
6.43 / 6.94 is furthest from 6.6 52
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Fluency 7 §§
Complete the stem sentences.
0.34 0.57 034is___ away from 045
1 1 057 is away from 0.45

| | | | | | | | | | | 0.34 / 0.57 is nearest to 0.45

0 1

1.72 1.85 172 is away from 1.79

1.85is away from 1.79

| | | | | | | | | | | 1.72 / 1.85 is furthest from 1.79

1 2
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Fluency 8

Circle the numbers that complete each stem sentence.

o

O

]

o

0.21 0.65 &

g
1 1 0.65 / 0.21is furthest from 0.42 < .
R i s s 55
0 1 T2
8.12 8.54 g a
mc
cC c
1 1 8.12 / 8.54 is nearest to 8.32 ° %
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Fluency 9

Complete the stem sentences.

4.39 4.96 4.39 and are an equal distance
1 1 from 4.47

4 5 496 and are an equal distance
from 4.84
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Fluency 10

Complete the stem sentences.
792is___ _away from8.807is____ away from 8.
7.92 / 8.07 is furthest from 8

514is__ away from4.9.482is____ away from 4.9
5.14 / 4.82 is furthest from 4.9

858is___ awayfrom871.897is___ away from 8.71

8.58 / 8.97 is nearest to 8.71

Fluency 11

Circle the number that completes each stem sentence.

3.09 / 3.41/ 3.25 is nearest to 4

6.73 / 6.25 / 6.58 is furthest from 7
5.03/5.29 / 5.23 is nearest to 5.3
9.45 / 9.71/ 9.06 is furthest from 9.6
2.36 / 2.67 / 2.58 is nearest to 2.48
0.95 / 0.08 / 0.86 is furthest from 0.81

Fluency 10

Complete the stem sentences.
792is__ away from8.807is_____ away from 8.
7.92 / 8.07 is furthest from 8

514is__ away from4.9.482is____ away from 4.9
5.14 / 4.82 is furthest from 4.9

858is___ away from871.897is___ away from 8.71

8.58 / 8.97 is nearest to 8.71

Fluency 11

Circle the number that completes each stem sentence.
3.09 / 3.41/3.25 is nearest to 4

6.73 / 6.25 / 6.58 is furthest from 7

5.03 /5.29 / 5.23 is nearest to 5.3

9.45 / 9.71/ 9.06 is furthest from 9.6

2.36 / 2.67 / 2.58 is nearest to 2.48

0.95 / 0.08 / 0.86 is furthest from 0.81
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Fluency 12

Write the number that makes each stem sentence correct.
112 and 148 are an equal distance from __

7.36 and 7.74 are an equal distance from ___

4.65 and 4.77 are an equal distance from

6.24 and are an equal distance from 6.5
2.61 and are an equal distance from 2.8
3.09 and are an equal distance from 3.43
Fluency 12

Write the number that makes each stem sentence correct.
112 and 1.48 are an equal distance from
7.36 and 7.74 are an equal distance from

4.65 and 4.77 are an equal distance from

6.24 and are an equal distance from 6.5
2.61 and are an equal distance from 2.8
3.09 and are an equal distance from 3.43
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Fluency 12

Write the number that makes each stem sentence correct.

112 and 1.48 are an equal distance from
7.36 and 7.74 are an equal distance from

4.65 and 4.77 are an equal distance from

6.24 and are an equal distance from 6.5
2.61 and are an equal distance from 2.8
3.09 and are an equal distance from 3.43
Fluency 12

Write the number that makes each stem sentence correct.

112 and 1.48 are an equal distance from
7.36 and 7.74 are an equal distance from

4.65 and 4.77 are an equal distance from

6.24 and are an equal distance from 6.5
2.61 and are an equal distance from 2.8
3.09 and are an equal distance from 3.45
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